
22286 Yamaha XSR900 Fly Screen Fitting Instructions

Attach the brackets to the fairing as shown in Fig 1.

Attach the fly screen to the fairing using the M5 fittings as shown in Fig 2. Tighten the bolts until the rubber 
anchor nuts expand, holding the fly screen in place.

Fit the fairing and fly screen assembly to the bike using the OEM bolts as shown in the Fig 3. The brackets 
fit to the outside of the headlight brackets.

The rubber trim provided can be fitted around the aperature of the fairing.

Check fixings periodically.Check fixings periodically.

M5 x 16mm Bolt

M5 Rubber Anchor Nut M5 X 16mm Bolt + M5 Washer

Rubber trim fitted around edge

M5 Washer

Fairing

Bracket

M6 Nyloc Nut

Kit Includes:
1X
1X
3X
3X
3X
3X3X
1X
4X
4X
4X

C21250
CFK22286
SMOT (puig)
SMOT (puig)
SMOT (puig)
SMOT (puig)
SMOT (puig)SMOT (puig)
CBOLM60002
CNUTM60003
CWASM60003

Fairing and Fly Screen
Brackets (pair)
M5 X 16mm Bolt
M5 Rubber Anchor Nut
M5 Washer
Bolt Cap
Rubber TrimRubber Trim
M6 X 12mm Bolt
M6 Nyloc Nut
M6 Washer

Any questions?
sales@pyramid-plastics.co.uk
+44 (0)1427 677990
www.pyramid-plastics.co.uk

Follow us on social media and 
feel free to leave us a review!

Fig 1

Fig 2

Fig 3

Right-hand 
side bracket

Left-hand 
side bracket

Bolt caps provided 
to be fitted here


